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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.
1- He is a woman of ---------- who has never abandoned his principles for the sake of
making money.
1) utility 2) integrity 3) treaty 4) acrimony
2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction
3- Jackson’s poor typing skills were a ---------- to finding employment at the nearby office
complex.
1) hill;drance 2) supplement 3) confirmation 4) versatility
4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable
5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to

7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued

8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output

9- Before the invention and diffusion of writing, translation was ---------- and oral;
persons professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous

10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test |
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) -~-------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ---------- both help people shed pounds through the same basic mechanism:
14) -----—---- major sources of calories. When you create an energy deficit —that is, when you

COQSlIJme tewer calories (15) ---------- —your body begins burning its fat stores and you lose
weilght.

11- 1) employed  2) are employed 3) is employed 4) then employed

12- 1) those that ~ 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4y with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

We are here dealing with the hierarchical arrangement of individuals into social classes, castes,
and divisions within a society. Modern Western societies stratification traditionally relates to
cultural and economic classes arranged in three main layers: upper class, middle class, and
lower class, but each class may be further subdivided into smaller classes (e.g. occupational).
Social stratification is interpreted in radically different ways within sociology. Proponents of
structural functionalism suggest that, since the stratification of classes and castes is evident in
all societies, hierarchy must be beneficial in stabilizing their existence. Conflict theorists, by
contrast, critique the inaccessibility of resources and lack of social mobility in stratified
societies.

16- What would the best topic be for the above passage?

1) Cultural Economic Classes 2) Modern Western Societies

3) Stratification in Societies 4) Structural Functionalism

17- What does the word castes in the 1*' line mean?

1) Social systems or principles of grading society based on wealth

2) Social classes separated from others by distinctions of professional rank

3) Hereditary, endogamous social classes or subclasses of traditional Hindu society

4) Hereditary social classes in which the members carry out a specific function such as soldiers

18- One can infer from the passage that ---—-——————- of structural functionalism suggest that
hierarchy ----—=-e-mmeeeeee- stabilizing the existence of societies.

1) opponents — must be beneficial in 2) supporters — must be advantageous to

3) advocates — is certainly detrimental to 4) opponents — is certainly destructive in
PASSAGE 2:

The sociology of the family examines the family, as an institution and unit of socialization,
with special concern for the comparatively modern historical emergence of the nuclear family
and its distinct gender roles. The notion of "childhood" is also significant. As one of the more
basic institutions to which one may apply sociological perspectives, the sociology of the family
is a common component on introductory academic curricula. Feminist sociology, on the other
hand, is a normative subfield that observes and criticizes the cultural categories of gender and
sexuality, particularly with respect to power and inequality. The primary concern of feminist
theory is the patriarchy and the systematic oppression of women apparent in many societies,
both at the level of small-scale interaction and in terms of the broader social structure. Feminist
sociology also analyses how gender interlocks with race and class to produce and perpetuate
social inequalities. Social psychology of gender, on the other hand, uses experimental methods
to uncover the micro-processes of gender stratification. For example, one recent study has
shown that resume evaluators penalize women for motherhood while giving a boost to men for
fatherhood. Another set of experiments showed that men whose sexuality is questioned
compensate by expressing a greater desire for military intervention and sport utility vehicles as
well as a greater opposition to gay marriage.
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19- What does the passage mainly discuss?
1) Family, Gender, and Sexuality 2) Emergence of Nuclear Family
3) Sociological Perspectives 4) Oppression of Women
20- According to the passage, the sociology of the family examines the family with special ----------
modern historical emergence of the nuclear family and its ------------—---=- gender roles.
1) worries about — typical 2) anxiety about — distinctive
3) responsibility to — ordinary 4) interest in — different

21- Which of the following is NOT mentioned in the passage about the family?

1) One can apply sociological views to the family.

2) The concept of the nuclear family is irrelevant.

3) The family is a foundation and element of socialization.

4) The sociology of the family is a usual part of preparatory academic courses.

22- What does patriarchy in line 8 mean?

1) A family, community, or society dominated by women

2) The union of man and woman as husband and wife

3) A social system in which men have authority over women and children

4) A system of social organization in which inheritance are traced through the female line

23- It is mentioned in the passage that feminist sociology analyses how gender ------------—---—-- race
and class to produce and perpetuate social inequalities.

1) resists 2) opposes to 3) conflicts with 4) joins with

24- The author finally gives an example in which resume evaluators --------------o---- men for
fatherhood and ----—----=-=r-——-- women for motherhood.

1) disappoint — manipulate 2) exploit — maltreat

3) abuse — discourage 4) encourage — punish

PASSAGE 3:

Sociologists increasingly draw upon computationally intensive methods to analyze and model
social phenomena. Using computer simulations, artificial intelligence, text mining, complex
statistical methods. and new analytic approaches like social network analysis, computational
sociology develops and tests theories of complex social processes through bottom-up modeling
of social interactions.

Although the subject matter and methodologies in social science differ from those in natural
science or computer science, several of the approaches used in contemporary social simulation
originated from fields such as physics and artificial intelligence. By the same token, some of
the approaches that originated in computational sociology have been imported into the natural
sciences, such as measures of network centrality from the fields of social network analysis and
network science. In relevant literature, computational sociology is often related to the study of
social complexity. Social complexity concepts such as complex systems, non-lincar
interconnection among macro and micro process, and emergence, have entered the vocabulary
of computational sociology. A practical and well-known example is the construction of a
computational model in the form of an "artificial society", by which researchers can analyze
the structure of a social system.

25- What does the passage mainly discuss?

1) Complex Social Processes 2) Computational Sociology

3) Methodologies in Sociology 4) Artificial Intelligence

26- According to the passage, sociologists increasingly —-----=e=veeeremv computationally --------------
to analyze and model social phenomena.

1) take advantage of — categorical approaches 2) make use of — complete procedures

3) employ — conditional techniques 4) exploit — limited strategies

g0 Sl 39 40 o 51 il )5 ENDS g JLS1 9 ST
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27- What does computer simulations in the 2™ line mean?

1) Creation of an imitated event or situation made on a computer

2) Imitation or representation of a potential situation in experimental testing

3) Representation of one process or system through the use of another

4) Examination of a problem often not subject to direct experimentation

28- One can infer from the passage that social science and natural science -—-------—--e-—-- through
computer simulation.

1) bilaterally employ each other's approaches

2) have the same methods, but cannot use them

3) make use of the same scientific approaches

4) differ from each other and cannot use each other's methods

29- Itis clearly mentioned in the passage that -—--—----———eo.. have found their way into the natural
sciences using computational sociology.

1) some approaches like network science and social simulation

2) certain fields of study like social network analysis

3) some fields of study like the study of social complexity

4) certain approaches like measures of network centrality

30- The author finally concludes that ----———-—- have been imported into computational
sociology.

1) social complexity notions

2) non-linear interconnection concepts

3) macro and micro process notions

4) complex systems and emergence concepts
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